Robin has 6 slices
Draw a square. of pizza. He gives

Shade % of it you half. How
many do you have?

Latrice has 10 T
oranges. She eats What is % Draw a circle.

half of them. How of 47 Shade % of it
many did she eat?

What is % of 207
Write the
division number
sentence.

Draw a
square.
Shade %
of it

There are 20

Miss McLaren has 18 children in the

chocola.te bars. She gives yurt. % of them What is % of
F S b h Mr Strain half. How many o e e .
I n I S chocolate bars does Mr & 8:
: many are
Strain have?

reading?



